written-10-solns-for-aleex.notebook April 11, 2025

1340 Week 10 Written

Mills

O We qrph g 60= A ws Aede (LT 0,0, 0LY)

*sigh* I missed the "- 3" and just saw "+ 3." Nice graphs, Steve.

Wrong Graphs. See next page for the correct work.
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The instructions say do it in 5 steps, counting the graph of f but I really only gave you 4

moves that need to be made, because there's no constant tacked on. I thought 1 was assigning
something like
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2 points each sketch. Looking for the 3 points in each graph. 2 points for breathing.
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‘We sketch the graph of -4 (3e2l) +2- by transforming the graph of =
5 464

‘We track where (1/3, -1), (1, 0), and (3, 1) go at each step.
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2 points for each sketch. Looking for shape, key labels and
relative positions of points. If they use BOTH M1 and M2, it's

OK to award an extra 2 points bonus (if they do both

= -2)
correctly). For a possible 12 points before the 10 bonus, below
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5 points bonus for x-intercept and
supporting work.
Loqs o8 .
E) - 5 points bonus for y-intercept and
supporting work.
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